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num = int(input())

if num > 0:
=

print("{num}EIF#E" . format (num=num)}
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num=int(input())

(& =CRF &0 [True]

[ﬁ%ﬂﬁﬁﬁ
TR
Iflnum>0

[print( {0}Z2 8" format(num)) ]
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if num > Oﬂ
[print("{num}%IE%z".format(num=num)) l J
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num = int(input())

if num > @:

print("{0}=1F&". format(num))
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2 if ERIBEZEEMNTE(Boo)BEREESEHIT
[if True: | «if EEBEZ True - MEHITEENER
. - if BEEE False - i AZ#AT

print('is True')

|if False:|
print('is False')

print('is End')
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if True:
print('is True') print('is True')
if False: —
print('is False') L
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print('is End')
print('is End')
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if numl > num2:
print("numl is greater than
num2")
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ifa>bc>a:

print("Both conditions are True")
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ea one of the conditions is True

a3b a>c

if:a:>b[:aza>»c:
print("At least one of the conditions is True")
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a=int (input()) #5 55 14 [Python_10 5]$
3

b=int (input()) 7
True

print (not (a>b) )‘ 555 14 [Python_10 5]$

a=int (input ()) 15 5514 [Python_10 5]
7

b=int (input () ) 3
False

print (not (a>b)) 1% 55 14 [Python_10 5]




M= 2: rrnotEor

——

if |not(a>c) OPM;
S iy e
\




